Linear Algebra

1.1 Systems of Linear Equations

A linear equation in the variables x1, x», ..., x, is an equation that can be put in the
form
a171 + gy + - - + apx, = b, (1)

where b and the coefficients a; (1 < i < n) are constants.

A solution to the linear equation (1) is an ordered set (sy, Sa, ..., S,) of numbers
with the property that a;s; + asse + - -+ + a,s, = b holds. The solution set of (1) is
the set containing all such solutions. To solve (1) is to find the solution set.

A system of linear equations, also called a linear system, is a collection of m > 1
linear equations in the n variables x1, xs, ..., x, that we want to solve simultaneously,
i.e., we look for a set {x1,zs,...,z,} that simultaneously solves each equation in the
set. For example, the system

{x—i—Qy:O )

has the solution z =2, y = —1.

1.1.1 Equivalent Systems

We say that two systems of linear equations are equivalent if they have identical
solution sets. For example, the system

r + 2y = 0
—4dr — 2y = —6

is equivalent to (2).

In this course, we almost always represent systems of equations by means of their
associated matrices. A matriz is a 2-dimensional array of numbers. Given a system
of equations, there are two matrices of interest. One is the coefficient matrixz, which
contains the coefficients from the left-hand side of the system. If we label this matrix
A, then a;;, the entry in row 7, column j, is simply the coefficient on the ith variable
in the jth equation. The augmented matriz for the system includes the right-hand
side as an additional column. For example, the coefficient and augmented matrices
for (2) are

A:[l 2] and [A|b]:{

1 210
21 ’

2 1|3



1.1.2 Elementary Row Operations

The elementary row operations, applicable to both systems of equations and to ma-
trices, are as follows:

1. interchange two rows.

2. multiply a row by a nonzero real constant. (This is called scaling.)
3. add a multiple of one row to another.

The author refers to these as Row Operations 1, 2, and 3, respectively.

Exercises in 1.1: 1b, 2b, 5b, 6d, 9, 10.

1.2 Row Echelon Form

An m x n matrix A is said to be in row echelon form if

1. the first nonzero in any row is a 1,

2. for any 1 < k < n, the number of leading zeros in row k + 1 is greater than the
number of leading zeros in row & (unless row k is a row of zeros), and

3. NONZero rows precede 7Zero rows.

Example: Here is a 4 x 4 matrix A, in row-echelon form:

o O O =
S O =N
S O N W
O = O N

Note that condition (1) is not universally required, i.e., the leading nonzero in any
row need not be a 1. It is useful to keep in mind, though, that Leon expects only 1s
in the leading positions.

1.2.1 Gaussian Elimination

The easiest method for putting a matrix into row-echelon form is to use these ele-
mentary row operations iteratively in a procedure called Gaussian Elimination. Once
a matrix is in row-echelon form, the associated equation, if consistent, can be solved
by back-substitution.



1.2.2 Overdetermined and underdetermined Systems

An overdetermined system is one with more equations than unknowns, while an un-
derdetermined system has more unknowns than equations. Overdetermined systems
are often inconsistent, while the consistency of an underdetermined system depends
upon its right-hand side. If consistent, an underdetermined system has infinitely
many solutions. In particular, if the right-hand side consists only of zeros (i.e., if the
system is homogeneous), there will be infinitely many solutions. See Leon, pp. 15-18
for a discussion.

Exercises in 1.2: 2, 4, be, 8.

1.3 Matrix Algebra

You should be comfortable with both the vocabulary and the operations of elementary
matrix algebra. A vector is either an n x 1 or a 1 x n matrix. The first is sometimes
called a column vector (think of the columns in a matrix), while the second is almost
always called a row vector to emphasize that it has (and is!) one row, not one column.
We will be doing most of our work in R”, also called Euclidean n-space, where vectors
will typically be represented as columns.

The basics of doing algebra with matrices consist of addition, subtraction, and
multiplication of matrices. You should have mastered these skills before registering
for MA3042. To make sure that you remember how it all works, try these exercises
from section 1.3: 1-4, 11-14.

1.4 Elementary Matrices

If M is a nonsingular m x m matrix and A an m x n matrix, then the linear equations
Ax = b and M Ax = Mb have the same solutions, i.e., the underlying linear systems
are equivalent. Our goal is to find an equivalent system that is easier to solve (a
triangular system), and the notion of multiplying both sides of the equation by a
nonsingular matrix can be useful, both theoretically and practically. An elementary
matriz is obtained from the identity matrix by performing a single row operation.
The author uses them to describe Gaussian Elimination as a sequence of matrix
multiplications, as well as to simplify the discussion of the triangular factorization
A = LU. We'll see elementary matrices once or twice during the quarter, so know
what they are and what they do (pp.61-64).

The full discussion of the LU factorization of a matrix A is beyond the scope of
these notes, but can be found in the text on pages 67—68. In practice, we can find
the LU factorization by simply adding a book-keeping step to Gaussian elimination.
Given an n X n matrix A, in some situations it is advantageous to factor A as a
product A = LU, where L is n x n, lower triangular, with 1s on the main diagonal,
and U is n x n and upper triangular. Solving Ax = b then reduces to the consecutive



solution of two triangular systems. For an example, consider the matrix

1 2 1
A= -1 0 3
2 10 20

Applying Gaussian Elimination to A, we find the upper triangular matrix

-

I
oo
=N N
<

So what is this matrix L? It’s remarkably simple. In performing Gaussian elimination,
we add 1 times row 1 to row 2, so the multiplier is 1. Placing a minus sign in front
of that 1, we record (—1) in row 2, column 1 of L. (Note that the multiplier occupies
the same position in L as the element just eliminated from A.) In eliminating the
entry in row 3, column 1, we add —2 times row 1 to row 3; placing a minus sign in
front of —2, we record 2 in row 3, column 1. That’s it for column 1. Let’s let A’

represent the state of our matrix after completing the elimination step in column 1.
We have

A=

O O =
SN DN
[ N Y
(0]

To eliminate the 6 in the 3, 2-position, we add —3 times row 2 to row 3. Placing a
minus sign in front of this multiplier, we record a 3 in the 3, 2-position of L. The final
state of what started out as A is U, shown above. The final state of L is

W = O
_ o O

Note that L is lower triangular with 1s on the main diagonal and with the negatives of
the multipliers occupying the lower triangle. Note: You might find it useful to think
in terms of subtraction rather than addition when applying Row Operation 3, since
then you don’t have to multiply the multipliers by —1 when constructing L. (The
reason for the sign change in the multipliers has to do with the inverses of elementary
matrices, so if this is too mysterious you can find the whole story in the text.)

The remarkable thing about this simple process is that

1 00 1 21 1 2 1
LU=|-110 024|=-1 0 3 |=A
2 31 006 2 10 20



Exercises 1.4: 1-3, 6, 8, 10b,e, 18.

1.5 Partitioned Matrices

A matrix A can be partitioned by using horizontal lines to partition the set of rows
and vertical lines to partition the set of columns. It’s hard to motivate, but it isn’t
hard to describe. Suppose A is m x n and B is n X p. Suppose we partition A as

_ | G| Gy
A‘{@ca

Dy | D,

1andBasB:{D3 Ds

1 . Then

C\Dy + CyDs | C1Dy + CyDy
Cng + C4D3 ‘ C3D2 + C4D4 ’

ap-|

provided the partitioning of A and B is done in such a way that the required sub-
products are defined.

The author uses some notation from MATLAB in this section. While MA3042
doesn’t require that you know any MATLAB, it makes better sense to borrow MAT-
LAB notation than to invent something new. The borrowed notation used is used to
represent rows in a matrix: Let’s suppose that A is m x n and B is n X p. The rows
of A are a(1,:),a(2,:),...,a(m,:) (this is MATLAB’s notation), and the columns of
B are by, bs, ..., b, (this is standard). It can verified without too much work that
the jth column of AB is Ab;, and the ith row of AB is a(i,:)B.

Of special interest are inner products and outer-product expansions. The inner
product of vectors x,y € R™ is the 1 x 1 matrix (a scalar) x”y. The inner product

3 1, then

of x and y is the n x n matrix xy’. For example, if x = [ ; } and y = [ 4

3
4

o3[

An outer product expansion is the description of a matrix product AB obtained by
partitioning A as a “row” of columns and B as a“column” of rows. See page 78 in
the text.

Exercises in §1.5: 3, 4, 6a, 8.

their inner product is x’y = [ 1 2 } [ ] = 3 + 8 = 11, and their outer product is



2.1 The Determinant

The determinant is a function that takes a square matrix as input and produces a
real number as its output. The most fundamental application of the determinant is to
tell us whether a matrix A is singular, but this is more important from a theoretical
point of view than from a practical point of view. (This is a confusing remark. If
your application is to learn linear algebra, most of us view the determinant as highly
practical. If your application is some real-world problem, the determinant is probably
of little use, but it has by then helped you learn enough linear algebra to solve your
problem!) The determinant of a 1 x 1 matrix A = [a] is defined to be det(A4) = a.

The determinant of the matrix A = [ e d

a b } is defined to be det(A) = ad — bc.

We pause for a change of notation. A competing, and equally popular, notation for
the determinant uses the pipes that we use for absolute value, so |A| represents the
determinant of A. Now back to business. It turns out that A is invertible if and only
if |A| # 0. We could continue in this fashion, ending up with a characterization of the
determinant as a sum of signed diagonal products from A, but there is an equivalent
(and easier) way that is recursive in nature. Given an n x n matrix A, let M;; denote
the (n — 1) x (n — 1) matrix obtained by deleting row i and column j of A. The
i, j-minor of A, also called the minor of a;j, is |M;;|, the determinant of M;;. The
associated cofactor A;; is defined by A;; = (—1)""|M,;|, a signed minor. Here is how
we use it: given the n x n matrix A, we find A using the cofactor expansion |A| =
aj1Ay+al2A 94 - -+ay, Ay, equivalent to |A| = ajy My —ajo Mo+ - -+ (—1)"a1, A1n.
See pp.90-95.

The preceding definition used row 1 of A, but it turns out that the determinant
can be computed in this fashion using any row, or for that matter any column, of
A. Some basic properties of the determinant are mentioned at the end of section 2.1,
and are listed here. Let A be any square matrix. Then

1. |A] = |AT).
2. if A is triangular, then |A| = II?_,a;;, the product of the diagonal entries of A.
3. if A has a line (a row or a column) of zeros, then |A| = 0.

4. if A has two identical rows or two identical columns, then |A| = 0.

Exercises Section 2.1: 3, 6, 9.

2.1.1 Properties of the Determinant

As forecast by the 1 x 1 case and 2 x 2 cases mentioned above, we have a theorem
that tells us that a square matrix A is singular if and only if the determinant of A is



0. Perhaps the more remarkable and useful property of the determinant is given in
the following theorem, which is proven on page 103 in the text.

THEOREM: If A and B are n x n matrices, then
|AB| = |A]|B].

Exercises Section 2.2: 1, 4, 7.

3.2 Extra problems for Chapters 1 and 2

1. Which of the following equations is linear?

(a) v — 22y =6
(b) 11z — 26y 4+ z — coss = €'
(c) 8x 4+ 6y —472=5
(d) 5bz> —=3=0
2. Find the Row Echelon form of the matrix corresponding to the following linear
system, and use this form and back substitution to find the solution of the

I — T2 + T3 = 6
system. dry + 229 — 23 = 0
51’1 + i) + T3 = 12.

3. Solve each of the following systems, if possible, by substitution.

(a> 31‘2 = 6
3ZE1 + 31‘2 =1

T 4+ 2z + x3 = 2
(b) 3r1 + 8xry + a3 = 12
-1 + 29 — bxg = 2
r1 + 2.CE2 + r3 = 2
(c) 3, + 8wy + w3 = 12
—x1 + 29 — 3x3 = 2

4. Solve each of the solvable systems from (3), by applying Gaussian elimination.



5. Perform Gaussian elimination on the augmented matrix for each of the following
systems. If any solution involves free variables, introduce parameters as needed.
Describe the general solution to each system.

Ty + 229 + x3 =
iL'Q—i-l’g:l

(a)

(b)

T -+
rr — X2

&
IS)

|
w

—r1 + 2132 — r3 = —4
41‘1 — 61‘2 — T3 = 7
15

{x1+x2+$3+x4+x55

3?[71 —f- 41‘2 —I— 21’3

6. Let x = [ 1 }, y = [ _i }, and z = { _3 } Compute the following:

1 — 2
7. Repeat (6), this time using x = 2 |, y= 1 |,andz=| —2
-1 0 3

1 2 1 -2 3 2 o
8. LetA—[O 1],B—{0 1},and0—{_2 1].Performthefollow1ng.

) Compute the sum, difference, and product of each pair of matrices.
b) Compute 2A — 3B + 4C.
)

)

Find the transpose of each matrix.

product of the transposes, but taken in reverse order. (e.g., that (AB)T =
BT AT)



9.

10.

11.

12.

13.

14.

15.

1 2 4 1 -2 =2
Let A=|0 1 —1 |,andB=| 0 1 —1 |. Repeat the operations from
11 1 3 2 1

the preceding exercise for A and B.

12 4 L—2
Let A = ,and B = | 0 1 |. Find each of the following, or
01 -1 3 9

explain why the indicated operation is not defined.

2 1 4 3
LetA—{5 3},andB—{7 6]'

Find A~! and B7!, if they exist.

1 00
Let A= | 1 3 4 |. Find A~! if it exists.
2 3 6
(4 3 S .
Let A = 76| and b = (0, —3)". Find the LU factorization of A, and use

this factorization to solve Ax = b.

Let A = ,and b = (1,3,9)7. Find the LU factorization of A, and

O O
W =
S )

use this factorization to solve Ax = b.

200 1 10 12 3
Let A=|1 2 4| ,B=|3 1 4 |,and C= 4 5 -6
3 3 6 2 3 5 -7 8 9

Find det(A), det(B), and det(C), using a cofactor expansion.



3.3 Solutions to Exercises

1. Only (c) is linear.

2. Find the Row Echelon form of the matrix corresponding to the following linear
system, and use this form and back substitution to find the solution of the

I — X9 + 3
system. 4dr1 + 229 — I3
dr1 + xe + 3
Linear System
r1 — Xz + T3
Solution: 4dr; + 219 — 3
5&31 + X2 + I3
Add (—4) times first
equation to second
T — i) + xT3 == 6
61‘2 — 5$3 = —-24
51}1 + X9 + x3 = 12.
Add (—5) times first
equation to third
r1 — i) + T3 = 6
61‘2 - 51’3 = —-24
6!L’2 — 41’3 = —18.
Add (—1) times second
equation to third.
ry — X9 + T3 = 6
6.%'2 — 51’3 = =24
Ty = 6.

)

[eviN @)

Augmented Matrix

1 -1 1 6
4 2 -1 0
5 1 1 12

Add (—4) times first

row to second.

1 -1 1 6
0 6 -5 —24
5 1 1 12

Add (—5) times first
row to third.

1 -1 1 6
0 6 -5 —24
0 6 —4 -18

Add (—1) times sec-
ond row to third.

1 -1 1 6
0 6 -5 —24
0o 0 1 6

The solution can now be calculated by back-substitution: The third equation
gives x3 = 6. Substitution into the second gives x5 = 1. Substitution of both

into the first gives z; = 1.

3. We are to solve each system by substitution, if possible.

10



(a)

31‘2:6
3ZE1 + 31‘2 = 1

Solution: From the first equation, zo = 2. Substituting into the second
equation, we have 327 + 3(2) =321 +6 =1, so 3x; = —5 and z; = —5/3.

Ty + 2.7}2 + T3 = 2
31[’1 + SZEQ + r3 = 12
—-r1 + 2$2 - 5£L'3 = 2

Solution: No solution exists. If one goes through the steps required to
discover a solution, in the end one is faced with an impossibility of the
form Oxy = 4.

ry + 2%2 + r3 = 2
3l‘1 + 8$2 + r3 = 12
—x -+ 2332 — 31’3 = 2

Solution: Solving the first equation for z;, we find 1 = 2 — 229 — 3.
Substituting this for x; in the second equation, we have o — x3 = 3, or
T9 = 3 4 x3, from which we have now have 1 = —4 — 3z3. We can then
eliminate both z; and x5 from the third equation, arriving at x3 = —4. It
follows that o =3 —4 = —1 and x; = —4 — 3(—4) = 8.

4. We now use Gaussian elimination to solve systems (a) and (c) from the preceding
problem.

(a)

()

31‘2:6
3.271 + 3.%’2 =1

Solution: There is really no work to be done here, since x; is absent from
the first equation.

X1 —|— 2I2 —|— r3 = 2
31 + 8xy + x3 = 12
—x1 + 2x9 — 3£L'3 = 2

Solution: Subtracting three times row one from row two, and adding row
one to row three, we obtain a new system:

r1 + 21’2 + r3 = 2
233'2 — 2$3 = 6
4372 — 2133 = 4

11



Now subtracting twice row two from row three, we have

Ty + 2.172 + r3 = 2
21’2 - 2!133 = 6
2.173 = -8

Backsubstitution gives us x5 = —4, 1, = $(6—8) = —1, and 7 = 24244 =
8.

5. We are to perform Gaussian elimination on the augmented matrix for each of
the following systems, obtaining the general solution.

x|y + 21’2 + x3 = 1
(a) { Ty + @y =
2 3 =

I1+$2+$3+I4+$5:5

(b) 1 + x5 = 3
r1T — X2 =3
—xl + 229 — w3 = —4

(c) 4oy — 639 — w3 = T
3331 -+ 4I2 —+ 2273 = 15

Solution:

(a) The augmented matrix for system (a) is

1211
A‘{0111}

Elimination has no effect, since the matrix is already in row-echelon form.
The free variable is x3, so we let x3 = s and proceed with back-substitution:
rg=1—s,and z;1 =1 —s—2(1 —s) = —1 + s. The general solution is
then

(r1,29,23) = (=1 +s,1 —s,5).

(b) The augmented matrix for system (b) is

=
OO =
OO =
o =
W W Ot



Introducing zeros below the pivot in the first column, we have

11 1 1 1 5
A=]10 -1 -1 -1 0 -2
0O -2 -1 -1 -1 -2

Introducing a zero below the pivot in the second column, we have

and the elimination is complete. Free variables are x, and x5, so we set
xy = sand x5 = t, say. It follows that x5 = 2—s+t, 19 = 2—s5—(2—s+t) =
—t,and oy =5+t —(2—s+1t) —s—t =3 —t. So the general solution is

(x1,m0, T3, x4, 05) = (3 —t,—1,2 — s+ t,s,1).

The augmented matrix for system (c) is

-1 2 -1 -4
A= 4 -6 -1 7
3 4 2 15

Introducing zeros below the pivot in the first column, we have

-1 2 -1 -4
A= 0 2 -5 -9
0 10 -1 3

Introducing a zero below the pivot in the second column, we obtain

-1 2 -1 -4
A= 02 -5 -9
0 0 24 48

There are no free variables, so we continue with backsubstitution, obtaining

(21,12, 3) = (3,1/2,2).

13



6. We are given x = [;},y: [ _21,andz: [ _g}mxndmust compute the

1
following:
[ -1 0 3
(a) x+y= _ 31,y+2—{_11,andx+2— {0}
[ 3 -3
(b) x—y= _1},andy—x—{_1}.

() 2x — 3y + 7 — { _10}

(d) The dot products:
oy =1-(-2)+2-1=-2+2=0

roz=1-242-(-2)=2—-4=-2
yoz=-22+1-(-2)=-4-2=—6

oy =1-(=2)+2-1+(=1)-0=-2+42+0=0
2oz =1-2+42-(=2)+(-1)-3=2-4-3=-5
yoz=-2241-(=2)+0-3=—-4—-24+0=—6

1 -2 2
7. We repeat (6), this time using x = 2 |,y = 1 |,andz= | -2 |,
—1 0 3
obtaining
[ —1 0 3
(a) x+y= 3|,y+z=| -1 |,andx+z= |0
| -1 3 2
[ 3] -3
(b) x—y= l fandy —x= | —1
| —1 ] 1
10
(c) 2x—3y+z=| —1
1

14



8. We are given

1 2 1 -2 3 2
A=y ] om=lp H]mae=| 3 1

and are to perform the following:

(a) Compute the sum, difference, and product of each pair of matrices.
(b) Compute 24 — 3B +4C.
)
)

(c

(d) For each pair, verify that the transpose of the product is equal to the
product of the transposes, but taken in reverse order. (e.g., that (AB)T =
BT AT)

Find the transpose of each matrix.

Solution:

(a) i The sums: A+ B = {g g},A—l—C: {_;l ;l},andB—i—C:

|

.. . 0 4 -2 —4
ii. Somedlfferences.A—B_[O O},B—C—{ 9 01

10 70 3 —4
iii. SomeproductS.AB—[O 1},30—[_2 1}03—{_2 5}

(b) 24 — 3B +4C = { i 121

(c) The transposes:

r |10 T 10 r |3 =2
A_[21’B__21’and0_21'

(d) Using B and C, we get
T AT 10 3 =2 3 =2 T
e R | P e B R

15



2 4 1 -2 =2
1 =1 |],and B=]0 1 —1 |, and are to repeat
1 1 3 2 1

9. We are given A =

=

operations (a), (c¢), and (d) from the preceding exercise, using A and B.

Solution:
2 0 2 0 4 6 0 -4 —6
(a) A+B=|0 2 -2 |, A-B= 0O 0O0|,B-A=]0 0 O
4 3 2 -2 -1 0 2 1 0
13 8 0 -1 -2 4
AB=| -3 -1 -2 |,and BA=| -1 0 -2
4 1 =2 4 9 11
1 01
) AT=]2 11
4 -1 1
13 -3 4
(d) BTAT = 8 -1 1| =(AB)T.
0 -2 =2
1 2 4 L =2
10. Let A = ,and B = | 0 1 |. Find each of the following, or
01 -1 3 9

explain why the indicated operation is not defined.

(a) A+ B is undefined, since the dimensions of the matrices do not agree.

(b)A+BT:{_§ 3 I]
(©) AB:{_lg _ﬂ

(d) AT B is undefined, since the number of columns in A” is not equal to the
number of rows in B.

21

11. Given A = [5 3

] ,and B = [ 43 ], we must find A= and B7! if they

76

exist.

16



Solution: Both are invertible. Following are the steps for finding A~!; the
same procedure applied to B will produce B~*.

We start with the matrix

[411)=]5 5l 1]

After the initial elimination step, we have the matrix
2 1 10
0 1/2|-5/2 1|
Multiplying row two by 2 and subtracting from row one, we have
2 0] 6 =2
0 1|{-5 2|

Finally dividing row one by 2, we have

1 0] 3 —1 : 1 3 —1
{O 1l s 2],reveahngA —[_5 2}.

. Let A= . Find A~ if it exists.

[ NSRS
w w o
O = O

Solution: As in the preceding problem, both matrices are invertible and, as
before, we construct A=!.

Our starting point is

1 00[1 00
[A|I]=|13 4|0 10
2 36/001

Introducing zeros below the pivot in column one, we have

1 00 100
0 3 4/-1 10
0 3 6/-2201

17



13.

Introducing a zero below the pivot in column two leads to

Subtracting row three from row two to put a zero above the pivot in column
three, we have

100 1 0 O
03 0] 1 3 -2
00 2/-1 -1 1

Finally, dividing row three by 2 and row two by 3, we obtain

100 1 0 0
01 0| 1/3 1 —2/3 |,
00 1|-1/2 —1/2 1/2

from which we know that

1 0 0
Al = 1/3 1 —2/3
-1/2 —1/2  1/2

4 3

LetA:{7 6

} , and b = (0, —3)7. Find the LU factorization of A, and use
this factorization to solve Ax = b.

. - . . 4 3 .
Solution: The multiplier used in reducing A = [ 7 6 } to the upper triangular

10

formU:[ 74 1

4 3 } is mg; = 7/4. It follows that L = [

0 3/4 ].Wenow

use the decomposition to solve the indicated system: solving Ly = b, we have
y = (0, =3)T. Solving Ux =y, we find x = (3, —4).

18



14. Let A =

15.

,and b = (1,3,9)7. Find the LU factorization of A, and

O O
W
Tl O

use this factorization to solve Ax = b.

110
Solution: The multipliers used in reducing A = | 3 1 4 | to the upper-
2 35
1 10
triangular form U = | 0 —2 4 | are mo; = 3, m3; = 2, and mss = —1/2, so
0o 07

1 0 0
L=13 1 0 |. Solving Ly = b, we have y = (1,0,7)”. Solving Ux =y,
2 —1/2 1

we obtain x = (—1,2,1)T.

2 00 1 10 1 2 3
GivenA=|1 2 4|,B=|3 1 4 |,andC = 4 5 —6 |, we must
3 3 6 2 35 -7 8 9

find det(A), det(B), and det(C), using cofactor expansions.

Solution: Expanding along row one to exploit the 0’s, we find

2 4

det(A) = 2det { 3 6

] =2(12—-12) =0.
Either row one or column three would be best for B; using row one, we have

1 4 3 4
det(B):det{3 5]—det[2 5}:—7—7:—14,

There being no 0’s in C', there are no shortcuts. Using row one, we find

5 —6 4 —6 4 5
det(C’)—det[8 9}—2det{_7 9}+3det[_7 8}—306.

19
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